1)

2)

- -1°C
- 4°C
- 2p.m.
4:15 p.m.
- -15°C

- 40,000

- 45,000

- 2005

3)

- 2,000

- Ace =5,500

Briggs = 4,500

Difference of 1,000 — Ace sold more.

4)

Match the graph to the activity.

Distance

Distance

Distance

from start

from start

from start

I —
Time
Time

)

A car travels
at constant
speed on the
motorway.

——

Acaris
parked
outside a
house.

A car drives to
the end of the
road and

back.

The first graph
matches with the
second statement.

Second graph with
the third
statement.

Third graph with
the first statement.






